MAC 1105       Final Exam Review

SHOW ALL WORK!!

1) 
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    a) Find the slope.



        b) Find the y-intercept.

2) Write the equation of the line through (3, 6) and (2, 
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) in slope-intercept form.

3) Use any algebraic method (substitution or elimination) to solve:
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4) Use back-substitution to solve:
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5) Use Gaussian reduction to solve: (Note: answer from a matrix is worth nothing!)
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6) Shade the solution for this system of inequalities:
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7) Solve 
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 by extraction of roots. 

8) Solve 
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 by factoring.

9) 
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a) Find the vertex (
[image: image10.wmf]v

v

y

x

,

).




b) Find the 
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    (give answer as ordered pair)

10) Use the quadratic formula to solve 
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11) Solve algebraically and give your answer in interval notation:
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12) Solve algebraically:  
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13) Find 
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14) Find the domain of 
[image: image17.wmf]9

)

(

2

-

=

x

x

x

f

.

15) Solve 
[image: image18.wmf]2

3

=

+

x

x


16) Solve 
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17) Find 
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18) Find 
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19) Solve 
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20) Solve 
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21) Solve 
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22) 
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Ammonia’s hydrogen ion concentration is
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.  Find its 
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 to the nearest tenth.

23) Use the properties of logarithms to
 evaluate 
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 to the nearest hundredth.

24) Solve 0.3
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 to the nearest hundredth.

25) Multiply and write in standard form:
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26) Factor 
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27) Find the zeros of 
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28) Find the Vertical and Horizontal Asymptotes of 
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29) Solve algebraically: 
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30) Write as a fully simplified simple fraction: 
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